Récapitulatif

CHAMP NB
+CPE CRAMP ENT NOMS £
[ B | B 75 !
[ 0 | 0 6 |ANGIBAUD Sébastien
1 17 |BERNARD Mikaél
16 25 [BLANCHARD Vincent
10 33 [BOURADA Jérome
19 4 [BRAIN Julien
[ 0 | 0 66 [BRAIN Xavier
17 51 [BRUNEAU Romuald
2 1 |CARATALA Axel
1 24 [CASTIES Thomas
2 32 [CASTIES David
15 31 [DAVID Enrique
3 0 [DEBIEN Guillaume
6 5 |DEBIEN Kévin
14 17 |DESGRIS Gael
7 34 |[EUSTACHE Mathieu
[ 0 | 0 22 [FAIVRE Lucas
3 33 [FERRE Jérome
[ 0 | 0 0 [GoDoc Sylvain
[ 0 | 0 0 |GOMES FERREIRA Loic
14 11 |GUERIN Stephane
[ 0 | 0 50 [GUILBAULT Dany
0 21 |[HAUTCHAMP Guillaume
[ 0 | 0 0 [HELIN Patrice
[ 0 | 0 14 |HERITEAU Geoffroy
2 15 |INTSABY Anthony
[ 0 | 0 40 [JEZEQUEL Ludovic
13 60 [KOR-STAT Camille
[ 0 | 0 0 [LEGOFF Thomas
8 46 |LOUE Jeremy
[ 9 | 6 12 [LUBIN Jérémy
3 21 [LUBIN Johann
[ 0 | 0 43 [MARCHAND Yohann
[ 0 | 0 3 [MARTIN Kevin
[ 0 | 0 44 [MASSIAU Vladimir
7 12 |MATISSE Mickaél
[ 0 | 0 6 |MENDES Flavio
14 5 |MINAUD Freddy
[ 0 | 0 13 [MOLITOR Marc
12 15 [MURAT Damien
13 50 [ORSONNEAU Jerome
12 34 [PETIT Yoan
1 55 [PIVETEAU Benjamin
9 62 |PIVETEAU Cédric
[ 6 | 5 20 [POINCET Jérémie
[ 0 | 0 16 |POINCET Valentin
28] 1 [19] 0 62 |POISSONNET Sébastien
17] 8 [11] 7 40 [POUCLET Vincent
2 18 |RADJOU Sébastien
15 22 [RAYNAUD Guillaume
301 0 20| O 46 |RICHARD Morgan
33[o0f21] 0 71 [ROIRAND Jérémy
1 10 [ROUSSEAU Guillaume
[31{0]19] 0 64 |SAGE Alexandre
[ 0 | 0 3 |THOMAS Thibault
[ 0 | 0 2 |TRICHET Jérome
2 46 [TROUSSICOT Romain
1 2 [TURQUETIT David
10 48 |VINCENT Julien
2 26 |VINET Eddy
0 52 |YTASSE Mathieu
9 41 |[ZOUNAITA Boris
7 17 [BOUDEAU David
0 33 |CADOU Guillaume
0 12 [ALLETRU Julien

=
o
—
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 4 |
[ 0 |
[ 0 |
[ 4 |
8 |
[ 0|
[ 0 |
[ 0 |
[ 0 |
[ 6 |
[ 0 |
[ 9 |
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 4 |
[ 0 |
[ 0 |
[ 0 |
[ 0 |
[ 0|
8 |
8 |
[ 6 |

BUTEUR

(=} [«} I3 | ] (o]} (o}l (o] (o] o] (o] (o}l (o] (o] o] (o} (o}l (o] (o] o} (o} [ 4 [ S) (o} | S} (o} F-4 (o} I o]l (o}l (o}l (o]l (o] o} | ) (o}l (o} BN o] (o} (o}l (o} (o] (o} [V} (o} [} | ) (o] (o} (o} (o} | S] (o] (o} (o} [} L SE (o} | S} o4 (o} (o (e} v

PASSEUR

CARTON

% ENTR GEN

35,80%

4/12

22/4

6/11

4/12

75,57% |

8/1

% MATCH B

=l [=) (o}l (o] (o] o] (o} (o} (@)

47,54%

=
[N

15/1

% MATCH C

30,27%

6/5

1/4

15/4

6/11

26/2

6/5

21/11

1/4

12/12

29/1 | 13/5

25/3

1/5

4/3

11/3

4/3

1/4

22/4

29/1

18/3

(V) (o]l (o] o]l (o] (o}l (o] (o] (o]l (o}l (o}l (o} [0} (o] (o) (o}l (o] (o] o] (o] (o}l (o] (o] (o} (o} [«} [ ] [« [«} | S) [«} [ S} [« (o} (3} | T (o} (o) F-3 (o} | SH [ P o} |2 (o} (o} (o) (o} | S) (o} [ (V) (e} F-3




